<[z | >
¥450, 000 35%3g8 LIV <55,




<[z | >
¥450, 000 35%3g8 LIV <55,

=EEEX (| +i§hnz)
450,000%X (14+0.35)=607,500

EAi ¥607,500




<[ERE2>
HHEED | 2393 LH¥587,600T
Hol-. HhHEEAITVED,




<[E]REa2> \
HEHEEND | L3 LH¥E587,600T
HoT-o HBEFRIIVK 5D,

EES=FPELOKER (| +5hnR)

587,600+ (1+0.13)=520,000
EZ ¥520,000




<fEE3>
HE28HDERDTE LELEIZ¥863,000
T. 5B LEEIE¥992, 450 TH-7-,
;EPJ ICEERX TR ES I/ X—t > Mgl
:b\o




<RRE3>
HE38HNEBDE LELHII¥863,000
T.5SHNELEIZ¥992, 450 TH-7-,
i\aﬁ ICEERN TR ES I/ N\—t > Mgl
:b\o

HmE=EE LORR - EEE— |
992,450+-863,000—-1=0. 15
EL 15%HL




